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First Semester B.Arch. Degree Examination, June/July 2023
Building Structures - I

Time:3 hrs.

Note: 1. Answer any FIVE full
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ing ONE full question f,ro,in each module,
2. Follow written dimensions, the drawing.

ffi,ffoOute-t ,i;

From the Premative times to }*gf,ed, times explain in detail'T{t5w the Structures Evolved".
,,,, rr,,' (20 Marks)

d. tud oR
2 a. i) What is Reinforc_ed.@fnent Concrete?
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oncrete? (03 Marks)
of steel and cemdirt. (07 Marks)
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b. What are the ad$Wes ofMILD STEEL and CONCRETE. (10 Marks)
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ModuIe-2
a. With ne,,at:skdtUh manmade cantileve*,and natural cantilever with examples. (08 Marks)

b. Show the load path and the way load gets transferred in case of manmade and natural

cantiieVei. ,i 
' ,,:::, (12 Marks)

"soR
a. Explain the following with example: :" , '

i) Dead load ii) Liy."s-|oad iii) knp-qct load iv) Earthquali6 load (10 Marks)

b. Determine the magnitudE'and direction of fiesultant Force for concurrent force system

shown in Fig.Q4(b)r" '* .* _,- "'iiii""""'
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OR
6 a. With neat sketch, explain different types of

determinate and static ally indeterminate.

b. Find the resultant for given "Force System" and

them
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7a.
b.

8a.

b.

Explain the following :
,

i) Norrnal stresses ii) Shear stror$BrsS iii) Bending sHesses iv) Thermal stresses.

material.
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A bar shown in Fig.Q8(b) is;esting in universal tgsfirfu frrachine. It is ob&'erved that at a load

of 40 lO{, the total extery-ffiffi,f the bar is 0.285 riffiDetermine the Y=eiiag's modulus of the
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9 a. witn neat sketch explain the foliowi-s i" *
i1 fiifect frame 

- 
itlp"ficient frame.ry iii) Redundant frame (0e Marks)-r"

b-*'M'dntion the assumffins'made in the an&isbf frame. (03 Marks)

&$'d truss is shown U"rt,,#"8&q("), determineJhe support reactions and calculate the total weight,

if each member ha$,rrangles 50x50;<6.E@ 4.5 kg/mt each
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Fig.Q9(c)

,,r OR.
Explain;$^deiail the method of analyzing the truss with a neat sketchby
i) Methd of Joints ii) Method 
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